Algebra
1. 
Maria bakes cakes and sells them in bags.
  She uses this formula to work out  how much to charge for one bag of cakes.
Cost = number of cakes × 20p + 15p for the bag



How much will a bag of 12 cakes cost?

[bookmark: _GoBack]Olivia buys a bag of cakes for £5.15
Use the formula to calculate how many cakes are in the bag.
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Lara chooses a number less than 100
She divides it by 3 and then subtracts 11
She then divides this result by 2

Her answer is 10.5

What was the number she started with?
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